ne m\bj\mtachem\eqst\ccdé\cuumtq\hoprkﬁ.dm

2-AL-2601

SB FRONTAGE ROAD

PISTATION = 49+637.70

X= 72533329
Y= 2128668.74
ELEMENT: LINEAR

PF STATION = 49463 1,70-
EEARING S 8°28'314°E
PC STATION = 49+703.45

ELEMENT: CIRCULAR
PISTATION = 49+726.485
X TT5346.40
¥ - 2128580.76
DELTA » 07374
LENGTH = 46,39
TANGENT » 232
RADIIS = -850.00

PC STATION = 49+703,45
PT STATION = 49+745.84

ELEMENT: LINEAR

PT STATION = 49+749.84
BEARING = S 11°3608.8 £
PC STATION = 49+799.03

ELEMENT: CIRCULAR
PISTATION = 49+825.42
Xw= 77336626
Y w 2128484.00
DELTA = 30332417
LENGTH = 52.76
TANGENT = 2859
RADRIS = 830,00

PC STATION = 434798.03
PT STATION = 49485119

ELEMENT: LINEAR

PT STATION = 49435179

BEARING = S 8*02'44.T" E
PC STATION = 50407383

ELEMENT: CIRCULAR
PISTATION » 50+103.48
Xs= 77540548
Y - 212820868
QELTA = 3*58'54.8"
LENGTH = 59.07
TANGENT = 2955
RADIUS = -450.00
PC STATION = 50+073.93
PT STATION = 50413300

ELEMENT: LINEAR

PT STATION = 50413300
BEARING = S 12°01395° E
PC STATION = 50+332.38

ELEMENT: CIRCULAR
PISTATION = S0e417.29
Xs= T75470.58
Y = 212790171
DELTA = 29°17°03.5"
LENGTH = ®en
TANGENT = 8491
RADIUS = 325,00

PL STATION = 50+332.38
PT STATION = §0+458.49

ELEMENT: CIRCULAR
PISTATION » 50+5%50.07
X= T75430.05
Y - 22TTILAG
DELTA = 23+18'54.4"
LENGTH = 0L13
TANGENT » 5158
RADIUS = -250.00
PC STATION = 50+488.49
PT STATION = 50+600.22

ELEMENT: LINEAR

PT STATION = 50+600.22
BEARING = S 6*03'504" E
PC STATION = 50+4620.73

ELEMENT: CIRCULAR
PISTATION = 50+671.41
Xw TT5443.05
Y s 2127649.29
DELTA » 22+55'12.9"
LENGTH = %0001
TANGENT =  50.68
RADIUS = -250,00
PC STATION = 50+620.73
PT STATION = 50+720.73

ELEMENT: CIRCULAR
PISTATION = 350+782,%8
X= TTS497.56
Y 212755085
DELTA = 20002°25.8"
LENGTH = ©72.42
TANGENT = 6184
RADIUS = 3%9.00

PC STATION = 504720.73
PT STATION = 5048435

ELEMENT: LINEAR

PT STATION = 50+843.15
BEARING = S 8*55'"85" E
PC STATION = 50+879.43

SB_FRONTAGE ROAD CONTINUED

ELEMENT: CIRCULAR
PISTATION = 50+887.66
Xm» T15514.09
Y » 212744380
DELTA = #*06'32.0%
LERGTH = 16,45
TANGENT = 823
RADUS = 850.00

PC STATION = 50+879.43
PT STATION = 50+895.00

ELEMENT: LINEAR
PT STATION » 504895.88

BEARING = $ T*49'465" E

PC STATION = S1vSS.12

PISTATION = 51+153,12
X m TrE550.25
Y = 2127182.81

NB_FRONTAGE ROAD

PiSTATION » 49469117

X= 11546832
Y = 2128633.18
ELEMENT: LINEAR

FT STATION = 49+63117

BEARING = S SIS E

PC STATION = 49+800.93

ELEMENT: CIRCULAR
PISTATION = 49481825
X= 77548849
Y - 212851033
ODELTA = 2+03'51.0"
LENGTH = 3068
TANGENT = 1533
RADIUS = 850,00
PC STATION = 49+800.93
PT STATION = 43+33158

ELEMENT: LINEAR

T STATION = 49+83138
BEARING » S T*12°49.0" €
PC STATION = 49+653.62

ELEMENT: CIRCULAR
PISTATION = 49497804
Xm= 77350880
Y = 2128349,82
DELTA » 3e18'8.2"
LENGTH = 49.03
TANGENT = 2452
RADIUS = 850.00

PC STATION = 49+853.52
PT STATION » 50+002.55

BASELINE SHIFT
STATION = 50+002.55
OFFSET = 36 m RIGHY

ELEMENT: LINEAR

PT STATION » 50+4002.55
BEARING = S 354301 E
PC STATION = S0+091.46

ELEMENT: CIRCULAR
PESTATION = S0+122.82
X= T73517.38
Y = 212820531
DELTA = 4°12'30.6"
LENGTH = 62.70
TANGENT = 3135
RADRIS = -853.60
PC STATION = 50+091.46
PT STATION = 50+154.%6

ELEMENT: LINEAR

PT STATION = 50+54.%
BEARING = S 8*0T'016" £
PC STATION = 50+33116

ELEMENT: CIRCULAR
PiSTATION = 50437973
X»= 11586742
Y = 2127955.97
DELTA = 20401'57.2°
LENGTH = 96.15
TANGENT = 4857
RADIUS = =278.00
PL STATION = 5033108
PT STATION = 50e427.3%

ELEMENT: LINEAR

PT STATION = 50+427.3¢
BEARING = S 28*08'388" E
PC STATION = SO#3T.30

ELEMENT: CIRCULAR
PiSTATION = 50448599
X = 775589298
Y= 2R7874,04
DELTA = J*32'05.8"
LENGTH = .96
TANGENT = 8.49
RADWIS = -275.00
PC STATION = 5Q+431.50
PT STATION = 50+4T4.47

ELEMENT: CIRCULAR
PISTATION = 50+534.79
X= T715628.66
Y= 2127615.23
DELTA » 24°44'29.5"
LENGTH » 18,75
TANGENT = 60,32
RADIUS = 275.00

PC STATION = SOMT4A4T
PT STATION = 50+593.22

ELEMENT: LINEAR

PT STATION » 30+593.22
BEARING = S 658331 E
PC STATION = 50+612.14

ELEMENT: CIRCULAR
PISTATION = 50+639.85
X = TI5641.39
Y = 2127709.07
DELTA = 15446'38.7"
LENGTH = 55,07
TANGENT = 27,71
RADIIS = 200.00

PC STATION = 50+612,14
PT STATION = 50+867.21

ELEMENT: LINEAR

PT STATION = S0+667.21
BEARING = S 8°50'05.6" w
PC STATION = 50+706.41

NB ERONTAGE ROAD CONTINUED

ELEMENT: CIRCULAR
PISTATION = S50+717.87
X ™ T775630.59
Y= 212763182
DELTA = 5e14°51.9°
LENGTH = 2250
TANGENT = 1146
RADIUS = -250.00
PC STATION = 50+708.41
PT STATION = 50+729.31

ELEMENT: LINEAR

PT STATION = $0+720.31
BEARING = S 33538 w
PC STATION » S0+T42.81

ELEMENT: CIRCILAR
PISTATION = 350+766.57
Xe 17563099
Y= 2127583.%
DELTA = 1045129.3"
LENGTH = 4738
TANGENT = 23.76
RADIUS = =250.00
PC STATION = 50+742.81
PT STATION = 50+790.19

ELEMENT? LINEAR

PT STATION = 50+780.%
BEARING = S T*W'5S5"E
PC STATION = 50+889.60

ELEMENT: CIRCULAR
PISTATION = 50491493
X m 715645.30
¥ = 212743569
DELTA x 3024574
LENGTH = 50+68
TANGENT » 2535
RADIUS = 850,00

PC STATION = S0+889.60
PT STATION » 5094027

ELEMENT: LINEAR
PT STATION = 50+940.27
BEARING = S 3*51M84° E
PC STATION » 50497554

ELEMENT: CIRCULAR
PISTATION = S1+007.01
X = T15653.81
Y = 212734405

DELTA = 4*14'282"
LENGTH » 62.92
TANGENT = 3147
RADIUS = -850.00
PC STATION = 50497554
PT STATION = 31:038.46

ELEMENT: LINEAR
PT STATION = S1038.46
BEARING » S 8°05466" E

PC STATION = #5237

PISTATION » SinS2.37
X » TT56T1.97
Y = 2127199.88

HORIZONTAL ALIGNMENT DATA

RAMP N-TC

PISTATION » 13+000.00
Xe 175303.60
Y- 2128637.49

ELEMENT: CIRCULAR

Pl STATION » 10+045.89
X = T75389.98
Y = 2128592.05
DELYA = 6*10°49,5"
LENGTH » 9L69
TANGENT = 4589
RADIUS = 850.00

PC STATION = 10+000.00
PT STATION » 13+081.69

ELEMENT: CIRCULAR
PISTATION = 10+107.66
X = 77535193
Y = 2128530.02
DELTA = 2+10'49.2"
LENGTH = 32.38%
TANGENT = 10,17
RADIUS = -8350.00
PC STATION = 10409169
PT STATION = 10+124.03

ELEMENT: LINEAR

PT STATION = 10+124.03
BEARING » S 38855 €
PC STATION = 10423981

ELEMENT: CIRCULAR
PISTATION = 10+264,10
Xn 775402.78
Y= 212837445
DELTA = 3418'04.0"
LENGTH = 4891
TANGENT = 24.49
RADIUS = 850,00

PC STATION = 10+239.81
PT STATION = 13+288.58

ELEMENT: LINEAR
PY STATION = 13+288.58

BEARING =

S 0*40'512"° E

PC STATION = 10+306.37

ELEMENT: CIRCULAR
PISTATION = 10+390.81
Xe T75404.28
Y= 2128241.44
DELTA = 1420482~
LENGTH = #8.33
TANGENT = 84,44
RADIUS = -850.00

PC STATION = f0+306.37
PT STATION = 10+474.70

PISTATION = {0+474,70
X = 77542188
Y= 2128164.85

(ALIGNMENT DATA NOT SHOWN ON PLAN SHEETS)

RAMP N-TE

PISTATION = 10+000.00
X= 7753248
Y » 2129093.75

ELEMENT: CIRCULAR
PiISTATION = 10+038.95
X= TI5329.58
Y= 2129055.18
DELTA = Se14'54.4™
LENGTH = 77,66
TANGENT = 3896
RADIUS = 850,00
PC STATION = $#0+000.00
PT STATION = 10+077.86

ELEMENT: LINEAR

PT STATION = 10+077.86
BEARING = 5 2°4889.3" €
PC STATION = 10413830

ELEMENT: CIRCULAR
PESTATION = 1017380
X= T75336.20
Y = 2128920.65
DELTA = 4245°22.4"
LENGTH = 10.56
TANGENT = 3530
RADUS = 850.00

PC STATION = i3+38.30
PT STATION = 10+208.86

ELEMENT: LINEAR

PT STATION = 1(+208.86
BEARING = S 156230 w
PC STATION = 10+226.66

BASELINE SHIFT
STATION = 10422666
OFFSET = 8 m RIGHT

ELEMENTILINEAR

PT STATION = 10422656
BEARING = S 156'23.0 W
PC STATION = 10+344.08

ELEMENT: CIRCULAR
PISTATION = 10+385.09
X= 77332124
Y = 212810934
DELTA = 1024'54.4™
LENGTH = 8180
TANGENT =  4t01
RADUS = ~130.00
PC STATION = 10+544.08
PT STATION =» 10+425.88

PISTATION = 10442588
Xn 175333.28
Y= 2128668.74

TOWN EAST BLVD

PiSTATION » 10+000.00

X= 77521034
Y= 2128724.21
ELEMENT: CIRCULAR
PISTATION =  10+019,33
X = TI5221.76
Y- 21287i15.84

DELTA = 40258'37.6
LENGTH = 38.63
TANGENT = 19.33
RADIUS = 500.00
PC STATION = 10+000.00
PT STATION = 104038.83

ELEMENT: LINEAR

PT STATION = 10+038.63
BEARING = S 59°53544" E
PC STATION = 10412087

ELEMENT: CIRCULAR
PISTATION = 10422708
X= 775340749
Y = 212861165
DELTA = 40+13'08.6"
LENGTH = 20387
TANGENT = 10818
RADIUS = -290.00
PC STATION = )+120.87
PT STATION = 10+324,44

ELEMENT: LINEAR

PT STATION = 10+324.44
BEARING = N 79*52'87.0" E
PC STATION = 1)+440,00

PISTATION =  10+440.00
Xs= T15625.18
Y= 21286%50.60

RAMP TE-S

PISTATION = 10+000.00
X = 775465.04
Y = 2127965.06

ELEMENT: CIRCULAR
PISTATION = 10+028.83
X TT5468.34
Y s 2127926,43
DELTA = 3+53'05,8"
LENGTH = 5163
TANGENT = 2683
RADIUS » -350.00
PC STATION = 10+000.00
PT STATION = 10+057.63

ELEMENT: LINEAR

PT STATION = 10+057.63
BEARING = S We2TILrE
PC STATION = 10421695

ELEMENT: CIRCULAR
PISTATION =  0+23L9
X = 77550507
Y= 21212743
DELTA » #5457
LENGTH = 28.42
TANGENY = 4.2t
RADIUS » -850.00
PC STATION = 10421695
PT STATION = 10424537

ELEMENT: CIRCULAR
PISTATION » 10+269.46
X T75513.28
Y = 2127690.02
DELTA = 344’490
LENGTH = 48.47
TANGENT = 24,09
RADWS = 850,00

PC STATION = 10424537
PT STATION = 10+293.54

ELEMENT: LINEAR

PT STATION = 10+293.54
BEARING = S 907398 €
PC STATION = 10+608.94

PiSTATION =  10+606.94
Xm= T75566.82
Y = 212735680

RAMP TE-N

Pi STATION = 10+300.00
X = 77534937
Y= 212921864

ELEMENT: LINEAR

PT STATION = {3+000.00
BEARING = S 907409 E
PC STATION = 10+313.13

ELEMENT: CIRCULAR
PISTATION »  10+38133
X= 775409.87
Y - 212884214
DELTA » 9107259~
LENGTH = 136.40
TANGENT o 68,19
RADIUS = -350.00
PC STATION = 13+313.13
PT STATION = 10¢449.23

ELEMENT: LINEAR

PT STATION = 10444923
BEARING S 18*18'068" €
PC STATION = 10+320.43

ELEMENT: CIRCULAR
PISTATION = 10+334.64
X = T75458.50
Y = 2128696,31
DELTA = $*0120.8"
LENGTH = 2834
TANGENT = 1420
RADIUS = 180,00

PC STATION = 10+520.43
PT STATION = 10+540,78

ELEMENT: LINEAR

PT STATION = 104548.78
BEARING = S 9*6MET E
PC STATION = 10+597.94

PISTATION = 10+4597.94
X = T73468.32
Ys 212883318

RAMP N-EB US80

PiSTATION = 10+0300.00

X= 175569.712
Y = 2427336.10
ELEMENT: CIRCULAR

PLSTATION = 10+039.08
Xw TT5575.45
Y= 227297.4¢

DELTA = 5015'45.4
LENGTH = 78.07
TANGENY = 3906
RADIUS = 850.00
PC STATION » 10+000.00
PT STATION = 10+078.07

ELEMENT: LINEAR

PT STATION = 10+078.07
BEARING = S 2*43'040" E
PC STATION » 10+190,61

ELEMENT: CIRCULAR
PISTATION » 10+247143
X= T75588.02
Y = 2127089,52
DELTA = 7036'30.4"
LENGTH « Heav
TANGENT =  56.52
RADIUS = 850,00

PC STATION = 10+190.81
PT STATION = 10+303.49

ELEMENT: LINEAR

PT STATION = 10+303.49
BEARING = S 4*5320.4" W
PC STATION = 10+435,36

PISTATION = 1043535
X= TT5568.96
Y = 212650182

TOWNE CENTRE

PISTATION = 9+980,00

X= 775319.43
Y 2127667.61
ELEMENT: LINEAR

PT STATION = 9+49€0,00
BEARING = N T6*42'048™ €
PC SYATION = 10+032.00

ELEMENT! LINEAR

PT STATION = 10+082.40¢
BEARING = N T3394T.1° E
PC STATION = 10+288.32

ELEMENT: LINEAR

PT STATION = 10+288.32
BEARING = N 72¢66°24.1 £
PC STATION = 10+344.32

ELEMENT: CIRCULAR
PISTATION = 13+360.67
Xs= T715705.08
Y= 2277118.14
DELTA = 8°29'54.5°
LENGTH = 32.63
TANGENT = 1635
RADIUS = -220.00
PC STATION = 1)+344.32
PT STATION = 10+376.85

ELEMENT: LINEAR

PT STATION = 10+376.95
BEARING = N 63°46'295" €
PC STATION = 10+401,76

PISTATION = H0+40LTE
Xm 171574197
Y= 212779392

RAMP S-TFE

PISTATION » 10+000,00
X = 71552529
Y= 212808254

ELEMENT: CIRCULAR
PISTATION = 10+029.32
X= 175529.43
Y= 2128053.51
DELTA = 3*51'03.8"
LENGTH = 58.62
TANGENT =  29.32
RADIUS = 850,00
PC STATION = 10+000.00
PT STATION = 10405862

ELEMENT: CIRCULAR
PISTATION = 10+08547
X s T75533.49
Y = 2127997.18
DELTA = 3434'40,8"
LENGTH = 53.08
TANGENT = 2685
RADIUS = -850.00
PC STATION = 10405862
PT STATION » 1D+HL70

ELEMENT: LINEAR

PT STATION = 10+HL70
BEARING = S 744374 €
PC STATION = 10+349,58

ELEMENT: GIRCIRAR

Pl STATION = 10+397.77
X= TT5575.61
Y= 212768802
OELTA = 8229228
LENGTH = 96.28
TANGENT = 4819
RADIUS = 850.00

PC STATION = 10+349.58
PT STATION = 10+445.86

ELEMENT: CIRCULAR

PISTATION =

10+495.82

X= 775577.78
Y = 212758989
DELTA = 6443'41.0"
LENGTH = 99.81
TANGENT = 4996
RADIUS = ~350.00
PC STATION = 10+445.86
PT STATION = 10+545.67

PISTATION = 10+545.67
X = T78584.70
Y= 212754041

RAMP TC-N

PISTATION »  10+000.00
X = 11540408
Y = 212882846

ELEMENT: LINEAR

PT STATION = 10+000.00
BEARING = S 96736 £
PC STATION = 10+324,73

ELEMENT: CIRCULAR
PISTATION =  10+355,35
X» 71546045
Y = 2128477.60
CELTA = 4+97'34.2"
LENGTH = 6121
TANGENT = 30.62
RADIUS = -850.00
PC STATION = 10+324.73
PT STATION = 10438595

ELEMENT: LINEAR

PT STATION » 10+385.35
BEARING = S 13°13'13.8" E
PC STATION » 13+462.75

ELEMENT: CIRCULAR
PISTATION =  10+532.28
X= 77550102
Y » 2128305.36
DELTA = 213"
LENGTH = 138.76
TANGENT » 6953
RADIUS = 830.00

PC STATION = #)+462.75
PT STATION = 10+601.51

PISTATION » 20460151
X = 775505.76
Y« 2128235.99
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